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General Instructions :

The question paper comprises of two sections, A and B you are to attempt both the sections.
All questions are compulsory.
There is no overall choice. However, internal choice has been provided in all the three questions
of five marks category. Only one option in such question is to be attempted.
All questions to section A and all questions of section B are to be attempted separately.

Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.

Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.
Question numbers 26 to 41 in section B are multiple choice questions based on practical

skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.

10. An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A

Define 1 kWh. 1
In an oscillating pendulum, at what positions the potential and kinetic energy are 1
maximum ?

What is Green House effect ? 1
Why is water necessary for living organisms ? 1
A piece of stone is tied at one end of a rubber string and holding from other end, it is 2
allowed to immersed partially then fully into water. What difference if any, you will
observe, and why ?

Differentiate between low and high pitch sound using neat and labelled diagram. 2
An object of 40N weight when immersed in water losses 10N weight. Will the object 2
float or sink ? Why ?

List two ways in which soil erosion is caused ? 2
What causes Acid rain ? Mention any damage caused by it on living organism. 2

In the following table the mass number and the atomic number of certain elements are 2

given :
Element A B C D E
Mass No. 1 7 14 40 40
Atomic No. 1 3 7 18 20

(a) Select a pair of isobars from the above table.

(b) What would be the valency of element ‘B’ listed in the above table ?

(a) Write chemical formula of Potassium Sulphate.

(b) Calculate the molar mass of :
(i) Ethyne (C,H,) and

(ii) Phosphorous molecule (P,;) (Atomic mass of C=12u, H=1u and P=31u).

(a) Name the phylum to which the following are included spider, cockroach, prawn, 2

House fly.

(b)  What is biodiversity ?

(a) List any three important features of vertebrates.

(b) Name one Reptile.
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What does acronym SONAR stand for ? What type of wave does it use ? Write any
two uses of SONAR.

An object is made to fall from different heights 20cm, 40cm and 60cm on a wet sand.
(a) What do you observe on the sand ?
(b)  Explain the reasons of the observations.

A sound wave has a frequency of 5000Hz. and wavelength of 20cm. How long will it
take to travel 1 km ?

(a) Define law of constant proportion.
(b)  Give one example of each.
(i)  Positively charged ion.
(i) A group of atoms carrying a charge.

Calculate :

(@) (i) number of molecules in 90 gm of H,O.
(ii) number of moles in 19gm of H,O,.

(b)  Define the term mole.

(a) What are communicable disease ?
(b) What are the common methods of transmission of disease ?

(a) How can we prevent diseases ?
(b) What is immunisation ?

It is difficult to make antiviral medicine then making an antibacterial medicine why ?
What is HIV ?

Name the group which is called Amphibians of plant Kingdom. Cite an example of
this group also mention one important feature of the same group.

What do you mean by work ? Give an example of negative work done. What is the
work to be done to increase the velocity of a car from 18km/hr to 90 km/hr if the mass
of the car is 2000 kg ?

OR

State law of conservation of energy. An object of mass 10kg is dropped from a height
5m above the ground. Show that total energy of the object at the height 5m and 2m is
same. (Take g=10m/s2). What happens to the energy when the object touches the
ground ?

(a) Ilustrate Rutherford’s experiment to explain the model of an atom.

(b) Ifanion M3+ contains 10 electrons and 14 neutrons. What are the atomic number
and mass number of the element M ?

OR

https://www.evidyarthi.in/



25.

26.

27.

28.

(@)
(b)

What are the postulates of Bohr’s model of an atom ?

An ion X2~ contains 10 electrons and 8 neutrons. What are the atomic number
and mass number of the elements X ?

With the help of a labelled diagram. Show : 5
(a) nitrogen cycle in nature.
(b)  describe any two processes involved in the cycling of N, in the environment.
OR
With the help of a labelled diagram show the cycling of carbon in nature. What are the
two ways in which carbon di-oxide is fixed in the environment.
SECTION - B
The angle between one tube and normal is 40°, the perfect reflection of sound will take 1
place only when :
(a) angle between two tubes is 40°. (b) angle between two tubes is 80°.
(c) angle between two tubes is 20°. (d) angle could be between 0 - 40°.
The correct way of setting the apparatus to verify laws of reflection of sound is : 1
(B OSSN (B) =
Wear
@ ©ear @
lock

Clock &

(C) P W N N (D) NN NN
(O)
% ear @ Dpar

Clock Clock
@ A (b) B (© C (d D
To observe and compare the pressure exterted by the three faces of a cuboid on sand, 1

students have chooser the following apparatus. The correct apparatus is :

(a)
(©)

A =Hollow cuboid of aluminium.
C=Cylinder of Plastic.

(b)
(d)

B =Solid cuboid of Iron.
D = Cuboid of light weight fibre.
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29. To observe and compare the pressure exterted by the three faces of a cuboid on sand, 1
various students have used various methods.
Methods used by students is correct.;

(a) A = While placing the cuboid on sand he applied lots of pressure on two bigger
side and no pressure on smaller side.

(b) B = While placing the cuboid on sand, he applied lots of pressure to get clear
depression.

(c) C = While placing the cuboid, he applied different pressure on placing different
faces of cuboid.

(d) D = He carefully placed each side on the sand without applying any pressure.

30. The correct way to take the observation is : 1
Y
N
150 B
Ae—r40 =——] >C
+30
+20
+10
~
@ A (b) B (© C (d D
31. The wave that can be produced in slinky is : 1
(a) Transverse wave (b) Longitudinal wave
(c) Both (a) and (b) (d) None of the above
32. N N 1
T-0 T-0
4 <« +
—+10 —+10
—+20 —+20
4 1
—+30 —+30
—+40 —+40
—+50 —+50

The weight of the object is :
(a) 5N (b) 25N (c) 20N (d) 30N
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Four students have taken readings to verify Archimedes Principle. The correct reading 1

is taken by :
Wt of the | wtlostby | Buoyant |Wt of the water
object in air | the object Force displaced

(@) 100N 30N 70N 30N

(b) 100N 30N 30N 70N

(c) 80N 30N 30N 30N

(d) 80N 30N 50N 50N
The buoyant force applied by the fluid : 1
(a) Increases on increasing the density of the fluid.
(b) Decreases on increasing the density of the fluid.
(c) Increases on decreasing the density of the fluid.
(d) All the above.
Slinky is a: 1
(a) rectangular wire in the shape of cuboid.
(b)  straight wire.
(c) coil of wire with several turns in the shape of cylinder.
(d) all of the above.
In spirogyra the chloroplast is : 1
(a) oval in shaped (b)  ribbon shaped
(c) coiled (d) comma shaped
Funaria is : 1
(a) Angiospermic plant (b) Green algae
(c) A moss (d) Grass
In Pinus the seed is : 1
(a) enclosed within fruit (b) naked
(c) Dboth (a) and (b) (d) none of the above.
Legs are jointed for fast running in : 1
(a) Earthworm (b) Cockroach (c) Frog (d) Birds
Birds are adaptive to aerial mode of life : Which of the statement is not correct ? 1
(a) Fore limbs are modified into wings for flying.
(b) Feathers present on the body provide insulation.
() Lungs shows air sacs attached to it.
(d) Heavy bones are present to reduce the weight of the body and help in flying.
Dorsal, Pelvic, Pectoral and tail fias are for locomotion in : 1

(a)

earthworm

(b) Cockroach

-00o0-

(c) Fishes (d) Birds.
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(a) STSIT (HUThT) & <hig oI Hewoqul Torarsti =l F=1 R | 2

(b) T WYY (YLEA) 1 1H &Y |

YHR (SONAR) I8 o1 faweg 91 €7 9% fF® bR 1 @il <l 9amT | et €7 3k 18 o

I fafEd |

W

@Tﬂ'@aﬁZOcm,40cm@160cm3ﬁﬁfﬂﬂm@ﬁ?ﬁs{ammm%: 3

(a) 319 X T FAT ST I & 7
(b) T STCHHAI T RV FA T ? TS |

T & T & g 5000Hz T T 988 20em §1 1 km T 7@ 6 H I8 foha w79

ot ?

(a) TR ergua fraw =t aRvmm S -
(b) Y I Teh ISR I |

() & EfE A

(ii)  STERYK YA Sl Teh HHE |

TR S :

(@) () 90 gm HOH 33Tl =t He |
(i) 19gm H,O,H Al =i He |

(b) ‘Hra’ @ gRTen S

(a) TohTHS T 1 B & 2
(b) T % e T WHR WIEA @ E 2

(a) & ATl T FTaROT hd T Tohd & 2
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Toll TETOT kT T2 SEd | Tk 10kg SAWH Y I hl Hag § 5m ki SeTE | FRET S g,
Wﬁhﬁﬁfﬁ%aﬁaﬁww 5m@?2mﬁﬁ1§ﬂ%%l(ﬂﬁ%g=10m/s2). KRl
T T Rl FIAT <l il hT AT BT 2

(a) T T & IS Hl THAM & fordl TR TART Sl YU Hifsd |
(b) AfE T 3 M3+ H 10 Seraei™ 3R 14 =M UM €, 39 I M hi THTY] TE& 3R
T HEA T ?
Srerar
(a) THIY] % ‘SR’ WIS i FT STURIM T ?
(b) T T X2~ H 10 eiagH iR 8 =g B, T X o1 WA He qe01 S9N §&
2 wad |

(a) UFHfd H LIS & =IhU,
(b) TATRY H ARSISH FehUl ok THIA B aTCH Tohwal QI UIshanail ol o9 |
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(a) < TFS H A BOIBMA0° () < TS b S HIV BT 80°
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28. T T o dF Hagl gRI X0 W TS 9Tt 6 h STl iR qol & & fod faanfeii &0 1
IYHN I AT, TTH H TE ST | -
(a) A=THMHIH & GE@ell Tehl (b)) B =3I I 3 T
(c) C=Tales® =1 fieret (d) D=3k FIZH H THI
29. TH Tk & o Hagl ol 0 T TS ATl TAE Tl AT IR o1 w & ford fafim 1
farenfefli ¥ evem-stem faferdl & wim f6), fra 6 @ o fafu @
(a) A = T HI W W TE@d G 3T 3 I Hel T SR 91 el SR Bl Hag ¥ ol
Tl ST |
(b) B = T hl W W WA THI I A Ta1E Srell dlfeh 3 T80 e fhed |
(€ C = Te& &I Wd g a4 fafie gadi w fafve g« g
(d) D = 381 FEauHIYeeh e hl Yo Hag i foA1 I Sl W & W Wi |

30. 3Tociioh ol Hel qliehl © :- 1
Y
N
+50 .
A—+40 =——] >C
- \D
30
120
+10
~
(@ A (b) B (9 C (d) D
31. Tt ¥ 9e1 ol S arel i ® - 1
(a) STITEY T (b) oA T
© (a) 3R (b) S d) SR H T HE T |
32. N N 1
—0 —0
4 <« +
—+10 —+10
—+20 —+20
+ L <«
—+30 —+30
—+40 —+40
:;50 —;50

T HT IR F -
(a) 5N (b) 25N (c) 20N (d) 30N
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<R faenfefai = snfhfacia & fagra =1 genfua w6 & o3 e fomn, 98 ueais # 1

T 1 Bell| g o R foreenfa Siat &1
gag | Awd [

(a) 100N 30N 70N 30N

(b) 100N 30N 30N 70N

() SON 30N 30N 30N

(d) 8ON 30N 50N 50N
ad gl eIHET T 3cedldehdl & 1
(a) T % T T R I Sl S |

(b) T % T T R T S T |

() %I % T T W ¢ I T

(d) SR gt |
i 8, & - 1
(a) STIATHR AR ¥ o SRR H |

(b) HiHm AR |

(c) TR %l FHUESE S HE TR H T (Afcvet & SMHR § Bl € |
(d) S gt |
TR | AR § 1
(a) TSR (b) T&H 1 R
(c) Fredl THRR (d) RIET & 3TRR I
Wfﬂ:{?ﬂ%: 1
(a) TASTETEAH dre | (b) = A
(c) THHM (d) =
9 H il 2ld © : 1
(a) Ak H TR (b) TS
€ (a) 3R (b) T (d) ST H 9 FE &
IS 9T o uie i 9t B ¥ - 1
(a) <hgSTH | (b) HRIA H| (c) Hew HI (d) &t H|
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(b) TR & Aef T F fod v 3ufeerd 2 )
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